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gt | mErs |FWOE|smn Ao Bz | Era | FEOE |smnAn gtz | Ere | FEOE |sgnan
1 |0k 68.23 42 228 1 |F0%t 79.55 25,210 1 BEHT 56.82 28,877
2 |F@Ah 67.99 69,851 2 |FHEM™ 78.93 40,974 2 |F0¥tth 56.35 17,018
3 [EE™ 66.42 69,670 3 |ERETH 77.60 40,749 3 |EAETH 55.21 28,921
4 |)\#th 66.08 45,699 4 |)\i#th 77.19 27,342 4 |)\#ith 54.41 18,357
5 |Fth 65.06 36,427 5 [FHiuh 76.39 21,283 5 |&lh 53.84 15,144
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1 |JBLLET 51.90 6,787 1 ES=T) 60.61 9,723 1 [neLLmy 42 42 2,859
2 |E&ZLLAT 53.18 17,223 2 |EEBRXH 61.74 831 2 |HEERET 45.31 1,713
3 |EHARHMH 54.15 1,441 3 |MBLLHET 61.99 3,928 3 |={CHT 4537 6,535
4 | ESEPHET 55.65 4,990 4 |={RHET 66.22 9,782 4 | ESEFHET 4548 2,094
5 |=EHKHE 55.92 16,317 5 |EEPHET 66.39 2,896 5 |EHEM 45.54 12,455
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1 Mith 3.00 1,265 1 ko] 3.11 784 1 /NEEEFHT 2.34 62
2 |&E)m 3.37 1,226 2 |Fh 3.83 815 2  |)IIEHT 2.56 114
3 |AEEAET 3.52 147 3 |EEmh 4.06 1,656 3 |kE#AET 2.63 45
4 || EHET 3.56 388 4 |AEEERT 4.14 102 4 | EEADHET 2.67 69
5 |$iETH 3.64 2535 5 |JIIERT 424 274 5 |&Th 2.71 411
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1 ESY=NI) 6.05 1,042 1 ESX=NI) 7.48 727 1 [EHRH 4.43 27
2 BRETTH 5.69 2,813 2 |IkRETH 6.67 1,937 2 3BRFE™ 4.30 876
3 |MELLET 5.44 369 3 Hat 6.67 1,083 3 [EX=LLET 420 315
4 =D 5.40 1,501 4 e LLIET 6.54 257 4 |=FHh 3.94 426
5 |=FH 5.22 1,373 5  |/MIIET 6.19 582 5 |t 3.92 616




